12th Week Friday
22 Aralik 2023 Cuma  09:22 @jLHI'L@ - :l\}:q X F\a;,:é It
’er"‘“\r& &"' SXVY
\o

— @.ﬂ 3 30 .i*r.tfjl.fifQ .f_z_@f-s-ﬂ.t.i’r:rﬂz.i"ra 11_.?"5 @ -

Let G be a graph, and let v and w be vertices in G.
A @ v to w is a finite alternating sequence of adjacent vertices and edges of

(. Thus a walk has the form
Vpe€t€g - - - Uy Exly,

where the v's represent vertices, the e’s represent edges, vo = v, va = w, and for
alli =1.2....n. v;; and v; are the endpoints of ¢;. The trivial walk from v to v
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t@ists of the single vertex v. >

A tfail frpm v to w is a walk from v to w that does not contain a repeated edge.

A path frym v to w is a trail that does not contain a repeated vertex.

walk that starts and ends at the same vertex.
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Connectedness

Two vertices v and w of G are connected if,
and only if, there is a walk from v to w.

r\o-¥ o Co(\nc(f\{,dl (()f’f\"

The graph G is connected if, and onlg /f i
MLy two vertices in G are connected.
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Connected Component

H is a subgraph of G s/
H is a connected graph «f
There is no connected subgraph

of G which contains H. 5,
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